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5593 Your Roll No. ..............

B.A. (Programme)/I A-II
(T)
PHILOSOPHY DISCIPLINE — Paper I
Logical Reasoning
Time : 3 Hours Maximum Marks : 100

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note :— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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All guestions are compulsory.
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SECTION A
(wog )

1. (a) How are propositions classified on the basis of
quantity and quality ? Discuss.
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OR (ar)

What is meant by distribution of terms ? Explain

with examples. (5)

Tz & =ity | T ol 2 7 Jem 9w anew
HIY |

(b) Distinguish between any one of the following:
(i) Immediate and mediate inference.
(ii) Sentence and Proposition. (5)
ffofem ¥ ¥ 50 o &1 R i
(i) ==fea R I=mafRa Fa
(i) @ F Favaw |

2. Reduce the following propositions to their logical form

and give their converse and obverse and contrapositive

wherever possible (any two)
(i) Not all flowers are fragrant.
(ii) A man is never perfect.
(iti) The crow is seldom not seen.

(iv) Everyone cannot be a leader. (5x2=10)
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frlfem aafar =t 399 affs R ¥ qRviRa
FfeA R &l N e 8 I wReda, whRed wRekadr
AR . (@ @)

(i) =% T giRa 8 A ¥

(i) = = 8§ qof =8 2,

(iii) From FaRm & & Red 3 2
(iv) v =afda A =& & g

3. (a) Prove that major premise must be universal in the
second figure.

e @ifom & fif sl ¥ o a9 adard B
FEATE B |

OR (ar)

Prove that the minor premise must be affirmative

in the Third figure of syllogism. (4)
Ra R 7y =regfem & f6d sl ¥ 9y snrars
TEHRH dhardg g <ifeg |

(b) Test the validity/invalidity of any one of the
following arguments by using the rules of

syllogism :
P.T.O.
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(i} All proteins are organic compounds hence all
enzymes are proteins, as all enzymes are

organic compounds.

(ii) All chairs are four - legged objects, all tables
are four - legged objects, therefore all tables
are chairs. (6)

frafafea gt X fadt o & due/ v gl
& Prel & wam ¥ St

(i) @ T Wi fsor A7 €, 3@ Fwo ot =
W N 2, & wFR F o UEw W WS R
T

(i) T el e A 2, e e B 3, R
o A A F

SECTION - B
(@ve - =)

4. (a) Use truth tables to determine the logical status of

any two of the following statement forms :
el sk sl 3 3 5 @ & alls
wfafy wew ot Ry g FuiRa S .

O (pva2[(~p29) (~¢>~p)]
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) (p=q)o(pvq) (~p>~q)]

(i) {lpvq) o (~p-PI>(pv(a-~q))
‘ (2¥x2=5)

(b) Symbolise the following : (Do any five)
Frafifm < i AR (@ W0 )

(i) It is false that neither Ravi nor Avi went to
the picnic.

w a2 fr @ @ kT IR Rsfw
w® Y

(ii) India and Sri Lanka both will not play the
match.

A AR it O & AT Al |9
(iii) You will succeed if and only if you work

hard.

@ et B o Sea ﬂﬁ sulkie el
(iv) It is false that all snakes are poisonous.

7z FEa ¢ & @l 9 weld A €

(v) Unless it rains, there will be shortage of

water.

A oF 9l A8 B U S wR @y
P.T.O.
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(vi) The flowers are not fragrzint, but they are
beautiful. .

wE g e 3, vy ¥ gw ¥

(vit) Brazil will protest to the UN only if Argentina

mobilises. (10)
e I U N RY Fan Daa o w9 I
aiga B

5. Use shorter truth-table method to determine the
validity/invalidity of the following : (Any two)

YR g-at R g Rl ¥ 4 R @ @
Juar / v FuiRa @R
) p2q (~ro~)]>(p>r)
(i) {(po2q)- (@)} ~(por)
(ii) p-(qvr)
pvqg /.. q>or (8)

6. (a) Define the following expressions into stroke

function :
Prefofea sivafdl it B w3 g $fe
(i) ~p2(q-r1)
i) (pogvr (4
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(b) Define any one of the following ex;;ressions into
“? and *~’.
i et FARD @ R @~
i SR ‘
(i (poa) ~(pv~q)
() (p29) - {q>p) )

7. Construct a formal proof of validity for the following :

Do any two.

relfay @ fuw @ awRE W @ gon PRk
e B} W)
(i) QoR
~S2>(T>U)

Sv(QvT)
~§ /5 RvU

(i) (Q>R)-(§2T)
(Uo V) - (W>X)
QvU /. RvV

(iii) (NvO) > P

(PvQ)>R
QvN
~Q /.. R (10)

P.T.O.
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8. (a) Symbolise any three of the following using
quantifiers and propositional functions :

Frafofas % @ & d5 = oY o wRnRmaee
IOR B0 Tae ¥ sRafia ARA
(i) A few politicians are honest. (Px, Hx)

TS TF ToAd PIRR B F

(1)) Roses are yellow. (Rx, Yx)

" G F

(i) Few doctors are registered. (Dx, Rx)

A3 B s Fored e F

(iv) Only the intelligent people prosper. (Ix, Px)
(6)
Re gfewm =fm w9 o ¥

(b) If A, B are true, and X, Y and Z are faise,
determine the truth or falsity of any two of the

following :

T} A, BEA T AN X, Y AN Z 5@ B 2 Prefafaa
i%ﬁﬁ&aaﬁmmmﬁuﬁr?ﬁm:—

(i) ~(Y - A) > (~Y v~B)
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10.

() [AvX-Y)]=A-X

(iii) ~(B - Z) > ~(B v ~Z) (4)

SECTION - C
(wE - W)

Discuss the fallacy of composition. Explain with

examples.
w5y g Ay = R¥ ARA | Il 31 W w
OR (&)

Distinguish between formal and informal fallacy with

example. (10)
e WS AR A sEeTRE e ¥ Y R |

Identify and explain the fallacies committed in any

two of the fotlowing passages:

Frafafirg aas ¥ ¥ 5 @ @ A B wahd @k A
e el

(i) ANl of us cannot be famous because all of us

cannot be well known.

T e e A8 8 gea FAE 3w whe 16

B aF |
P.T.O.
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(1i) “Successful people have expensive clothing, so
the best way to become successful is to buy
expensive clothing.”

“FEOE A D UG IS 9 B 2, I SrEE
N T TR A 2 e T | W

(i) To give charity to young healthy beggar is
wrong. Therefore charity is a waste. (5.5)

TaF @ i &t 3 @ e # safe B e
I T8 2

(200)****



